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Name: ST
EE210 - Electric Circuits I Student Numt o
Exam I, Form: CEaEiAs
ection: —
Date: 2007 [10/20

The exam contains 2 parts: matching phrases, and short answer.

Total number of points in this exam = 100

Section 1. Short Answers-B-90 points

T In the circuit below, if g,, = 0.038, compute v,,;.
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2. [15 Points | For the circuit shown below.,

(a) what is the power dissipated by the 47 +Q resistor ?
| p Y

¢ . = - L o, (PRA
{h) what is the voltage at node 5?7 Te L-'U}T‘
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Determine each mesh current in the circuit shown below t.ta. and 7.
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4. ‘i 10 Points | Find 4; in the circuit shown below. hint: write KVI, for the supermesh

0.5i, v
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6. Determine the power being absorbed by each of the circuit elements shown in the figure below
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7. |10 Points | For the circuit shown below, if vo = 1000, and i» = 5m A, determine v,.
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Section 2. |10 Points-B - 1 point each | Match the corresponding phrases

|
*‘r_o{__ KCL is a translation of the fact that (a’j‘ voltages as the unknowns
e /L £_ The unit for measuring energy is (b) common node
«” £ | __ The unit for measuring power is (¢) any circuit
— .
. _,ﬁ Writing mesh equations applies to () currenis as ihe unbnpwms

Mesh equations have the OB circuits

KVL is a translation of the law that O

) Joule

Writing node equations applies to ) :
(g) energy is conserved

Nodal equations have the

a3

(BT number of mesh currents

€~ J In using nodal analysis we do not write KCL for

th (¥ Watt

[1+)

. u fox =4 £
i -»h Number of Mesh equations equals AJ) @ point can not hold charge
v il

/N
L
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